TRH2EE ESCEMEBL AU IAR
G 55kg#k
B FIFE

mA  BEEE

VT 5:0
0-7=1:40

NHE it

AR BRIEREHER

2R th s

BE RIAEE
PP 3:1
5-0=2:00
0-1=2:00
6-0=1:56

=% MAm ¢

FE HEBR

REG LR
=fE & e

FE HEBR

PP 3:1
0-1=2:00
5-6=1:29

NE i o

A RATEALHE

EECIEYIEES [rmm| [1 =5
5
PO 3.0
1-0:2:00
7-0:1:14
PP 3:1 6
0-1=2:00
2-0=2:00
4-0=2:00
7
ST 4.0
6-0:1:26
7-0=0:50
8
PP 3:1 VT 5:0
2-3=2:00 | 0-4=2:00
7-0=2:00 0-4=038
1-7=2:00 VT 5.0 9
0-1=2:00
2-0=2:00
0-4=107
VT 5:0
3-222:00
1-4=1:14
PP 3:1 10
3-0=2:00
0-4=2:00
7-0=1:49
1
PO 3:0
3-0=2:00
1-0=2:00
12
3 — AR EH 2@ 1[EE
9
PO 3.0
PO 3:0 3-0=2:00
0-4=2:00 1-0=2:00
0-5=2:00
PO 3.0
I — 1
2-0=2:00
1-0=2:00
5

JLa0-I>R51I)L

HE =

R AHRPE

R AL

KR BARIERTERS

i EF

BE BB

B+ A
RE BEsEZE
I BE

g ERTE

KHE =
E T TR
=fE WA

BE  TEBRER

XE =A

ITE] et

\LIE REG

g ERTE

=iE B&
BE  TRER

HE =

R AHRTE



